Percent Abundance Problem


Natural strontium consists of the following isotopes:

	Isotope
	Molar Mass, g
	Percent Abundance

	Strontium-84
	83.913
	0.56

	Strontium-86
	85.909
	9.86

	Strontium-87
	86.909
	7.00

	Strontium-88
	87.906
	82.58



Calculate the molar mass of strontium.

Solution:

Natural strontium consists of the following isotopes:

	Isotope
	Molar Mass, u
	Percent Abundance

	Strontium-84
	83.913
	0.56

	Strontium-86
	85.909
	9.86

	Strontium-87
	86.909
	7.00

	Strontium-88
	87.906
	82.58



Calculate the molar mass of strontium.


The molar mass is the weighted average:


Molar mass 
=
(83.913 g/mol)(0.0056) + (85.909 g/mol)(0.0986) + 

(86.909 g/mol)(0.070) + (87.906 g/mol)(0.8258)




= 
87.634 g/mol

